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0�� ������	��� �� 1���� �� ��#�23� ��1����	����� 0���� ��	����� ��	��
��	��� 	� ������� � ����
��	�	��� �
 4��	 4�� ��	����+ ������� ��� ����� ��	�
	�� �5��	��! 62� �������� ����'�	���	����

0�� 
���� �7��	���� ������	�� �� 	��� ����
��	 ��� 	�� �7��	���� 
���� ��
�8�� ��	� %&, 1�	 ���	 �� � ��
�'9�!���!��� :����+; 
��
� ��
��+-

d
d t

(u, v, t, ln p, moisture, tracers) = (RHSU, RHSV, RHST, . . . )

�����<����+" 	�� 
�
��	�
 �7��	���� ��� ��	 ������ (U, V ) = cos θ (u, v) ,
��� 	�� ���
��� �������� �7��	��� �� �5������� �� 	��
� �
 dps

dt " ��	 ∂ps

∂t � 0��
	���
��+��
�� �7��	��� �� �������� 
�� ��
���	�����" ��� 	�� ����1�	�� 
���'
	��� �7��	��� ��
��+ �5������� 	�� ��������! �
 	�� 
���	���3� 	�	�� 	�
� ������'
	���� 0�� ���	��1�	���� �
 	�� ��+����� ����
�	���=�	��� ��� ����� �� � ������	�
���� �
 	�� !��� ����! 	�� ����		��! 
�	���� �	 �	� ���!��" 	�� ����	��� 
����
4�� ���	 �� 	��
� �
 �����!���� ��� ���	���	+� 0�� 	�����	��� 	� � ������	+ 
��'

���	��� 4�� 
��� �� ��	�����	��� �
 � ��
�'9�!���!� �
���
��	�	���� 0���

��
���	��� ���
�	� 	�� ������	��� �
 	�	�� 	�
� ������	���� �� 	��
� �
 ���	���

������ �� ����� ��� 	�
�� 0�� �����<� ������ �
 � 	�
� ��>�������! ����
� ���
1� ��
����� 	� 	�� <��� �	�!� �
 	�� ������	���" ��
��+" �
	�� 	�� ����� ������	�=�'
	���� ��� ��
���	��� 0��� ����� 4��� 	���� 	�� ��	����� �	��� ��7����� 	� �5�����
	�� 	�	�� 	�
� ������	���� �� 	��
� �
 ��������� ���
����� �� 	�� ����=��	�� ?���
�������5@ ��� <��	� ��>������� ����! 	�� �+1��� ���	���� ��������	� ������1��
�� �8�� ��	� %&,� 0�� 	�
� ��	�!��	��� �
 	�� <��� 
��
 �
 	�� 
���� �7��'
	���� 4��� 1� ���
��
�� �� � ��
�'�
�����	 
������A 	�� �7��	���� 4��� 1� ���	 ��
� !������ 4�+ ���� 	��	 	�� ��	��� 	�
� ������	�=�	��� ����� 1� ��	��� 	4� ��
	���� 	�
� �������

��
� �
 	�� �7��	���� ���	��� ���	��� ���	���� ��
� 4���� 
�+ 1� ������	�
	� ����� B� 	���� ����� � ��	����� �5����	��� �� �������� 
�� � 
��� ����� 
����
�� 	��	 ��� 	��
�" ���������+ ���� 1���������" ��� ������	�� 
���
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 	�� �	
������� 	�
1�		�
� B���5��! �� 	�� ����	��� 
���� ��� ��4�+� 1��� 
��
 1�		�
 	� 	��"
��� 	�� ������ �� ���	����� 	� �5������ ���� 4��� �4�	����! 1�	4��� ��	�� ���
������ �	 	�
��" ����� ���� 
��	���		���� �����1��� 4��� ������ �� 	��� ����
��	�
0���� ��� ������	�� �� ����� 	� 
�����	�	� ����	�<��	��� �
 �����1��� �� 	�� �����

�� 1�!�� 4�	� 	�� ��<��	��� �
 � �+1��� ��������	��

9�	 η(0, ps) = 0. η(ps, ps) = 1. ηk+ 1
2

=
A

k+ 1
2

p0
+ Bk+ 1

2
ps

Ak+ 1
2

Bk+ 1
2
��� ������ 	� 
���� ���	�" k = 0 �	 	�� �
 �	
�������"

��� p0 = 101.325 �1� B	 �� ��	�� 	��	 	�� ��	��� ������ �
 η ��� ���+ ��7�����

�� ��
�'��!���!� ��	������	����" ��	 
�� 	�� ������	��� �
 	�� 
����3� �7��	�����
����� 	�� �+1��� ��������	� �������� �	 	�� 	��" 4� ��	

A 1
2

= B 1
2

= 0.

 ! ��� �
���	�� ����	�
�

0�� 
�
��	�
 �7��	���� 4�	���	 ���1�	�� 
�����! 	��
� ���-

d u

d t
− fv +

1
a cos θ

(
∂φ

∂λ
+ RdTv

∂

∂λ
ln p

)
= 0 ?,�,�,@

d v

d t
+ fu +

1
a

(
∂φ

∂θ
+ RdTv

∂

∂θ
ln p

)
= 0 ?,�,��@

2�� 
���	������ �
 ��������	��� ������	��� ?��

��� ��� C�����!�" ,DE,@"
4� ������	�=� RdTv∇ ln p �� 
����4�-

Rd (Tv∇ ln p)k =
Rd(Tv)k

Δpk

[
ln

(
pk+ 1

2

pk− 1
2

)
∇pk− 1

2
+ αk∇Δpk

]
?,�,�(@

(



αk = 1 −
pk− 1

2

Δpk
ln

(
pk+ 1

2

pk− 1
2

)
?,�,�%@


�� k ≥ 1 " ��� α1 = ln 2 � ?���	��� ������ ����� 1� α = 1 @

0�� �1��� ������ �
 αk 4��� ������ �7� ?,�,�(@ 	� Rd (Tv)k ∇ ln p 4���
Ak = 0� B� 	��� ����-

RdT
p ∇pk = RdTk

{
1

Δpk

(
pk+ 1

2
ln pk+ 1

2
− pk− 1

2
ln pk− 1

2

)}

4���� �� � ������	� �����! �
 RdT∇ ∂
∂p (p ln p) = RdT∇ ln p

�� ��<�� �����! �����1��� �� 
����4�� ?0���� 	��
� 4��� ������ �� 	��  F�"
����� 	�� ��!�	��� ��!��@

−∇φk =

⎧⎪⎪⎨
⎪⎪⎩

− 1
a cos θ

(
∂φ
∂λ

)
k

= ����

− 1
a

(
∂φ
∂θ

)
k

= ����

RdTv∇ ln p =

⎧⎨
⎩

Rd

a cos θ

(
Tv

∂
∂λ ln p

)
= �� �

Rd

a Tv
∂ ln p

∂θ = G� �

0�� !����	��	��� φ �� ���!����� 
��
 	�� �+����	�	�� �7��	����

φk+ 1
2
− φk− 1

2
= −Rd (Tv)k ln

(
p

k+ 1
2

p
k− 1

2

)
�
	�� ��
� 
�������	���-

φk+ 1
2

= φs +
∑levs

j=k+1 Rd (Tv)j ln
(

p
j+ 1

2
p

j− 1
2

)
����� 4� ���� φk �� ��+���" 4� ��<�� αk �� �� ��

��� ��� C�����!�" ?,DE,@

φk = φk+ 1
2

+ αkRd (Tv)k ?,�,��@

%



��
��
����� �� ������ �����

2�� 
���	������ �
 ��������	��� ������	���" 	�� 	���
��+��
�� �7��	���
��7����� 	��	 4� ��� �7� ?,�,�(@ -

Rd (Tv∇ ln p)k = Rd(Tv)k

Δpk

[
ln
(

p
k+ 1

2
p

k− 1
2

)
∇pk− 1

2
+ αk∇Δpk

]

�����-

∇Δpk = ∇
(
Ak+ 1

2
+ Bk+ 1

2
ps −

(
Ak− 1

2
+ Bk− 1

2
ps

))
= ∇ΔBkps = ΔBk∇ps

�� 
�+ 4��	�

?�� �" G� �@ H

RdTv � ln p = Rd(Tv)k

Δpk

[
ln
(

p
k+ 1

2
p

k− 1
2

)
Bk− 1

2
∇ps + αkΔBk∇ps

]

= Rd(Tv)k

Δpk

[
Bk− 1

2
ln
(

p
k+ 1

2
p

k− 1
2

)
+ αkΔBk

]
ps∇ ln ps

�� 	�� ���� ∇ ln ps = (���9�#,����FB)

��	 ��
 b = 1
Δpk

[
Bk− 1

2
ln
(

p
k+ 1

2
p

k− 1
2

)
+ αkΔBk

]

0��� (�� �,G� �) = ��
 b Rd (Tv)k ps (���9�#,����FB)


�� k = 1 ln
(

p 3
2

p 1
2

)
∇p 1

2
" �	 	�� 	�� p 1

2
= A 1

2
= B 1

2
= 0

limp 1
2
→0

(
ln
(

p 3
2

p 1
2

)
∇p 1

2

)
= 0

	����
��� (�� �,G� �)k=1 = Rd
(Tk)1
Δp1

(���9�#,����FB) + α1ΔB1

�



��
��
����� �� ������ �����

(����, ����) = −∇φk

φk = φk+ 1
2

+ αkRd (Tv)k " φk+ 1
2

= φs +
∑Levs

j=k+1 Rd (Tv)j ln
(

p
j+ 1

2
p

j− 1
2

)

α1 = ln 2 �� ?H,@ " αk = 1 − p
k+ 1

2
Δpk

ln
(

p
k+ 1

2
p

k− 1
2

)
k > 1 �

	���- −∇φk = −∇
[
φs +

∑Levs
j=k+1 Rd (Tv)j ln

(
p

j+ 1
2

p
j− 1

2

)
+ αkRd (Tv)k

]

= −∇φs−Rd

{∑Levs
j=k+1

[
(Tv)j ∇πjπi + πj∇ (Tv)j

]
+ αk∇ (Tv)k + (Tv)k ∇αk

}

4���� πj = ln
p

j+ 1
2

p
j− 1

2

��	 (����, ����) =
−−→
Px1 +

−−→
Px2 +

−−→
Px3 +

−−→
Px4 +

−−→
Px5 ?
�� �����! ��������@

−−→
Px1 = −∇φs "

−−→
Px2 = −Rd

∑Levs
j=k+1 (Tv)j ∇πj

−−→
Px3 = −Rd

∑Levs
j=k+1 πj∇ (Tv)j

−−→
Px4 = −Rdαk∇ (Tv)k "

−−→
Px5 = −Rd (Tv)k ∇αk

���
����
−−→
Px2

−−→
Px2 = −Rd

∑Levs
j=k+1 (Tv)j ∇πj

∇πj = ∇ ln
(

p
j+ 1

2
p

j− 1
2

)
=

∇p
j+ 1

2
p

j+ 1
2

− ∇p
j− 1

2
p

j− 1
2

&



=
Bj+ 1

2

pj+ 1
2

∇ps −
Bj− 1

2

pj− 1
2

∇ps =

(
Bj+ 1

2

pj+ 1
2

−
Bj− 1

2

pj− 1
2

)
ps∇ ln ps ?,�,�&@

−−→
Px2 = −Rd

∑Levs
j=k+1 (Tv)j

(
B

j+ 1
2

p
j+ 1

2

− B
j− 1

2
p

j− 1
2

)
ps∇ ln ps

−−→
Px2 = −Rd

∑Levs
j=k+1 (Tv)j

(
B

j+ 1
2

p
j+ 1

2

− B
j− 1

2
p

j− 1
2

)
ps (���9�#,����FB)︸ ︷︷ ︸

∇ ln ps


�� � σ ��������	� Ak+ 1
2

= 0
B

j+ 1
2

p
j+ 1

2

− B
j− 1

2
p

j− 1
2

= 1
ps

− 1
ps

= 0

−−→
Px2 = 0 ?���
�� 
�� ���� ������	���@

���
����
−−→
Px3

−−→
Px3 = −Rd

∑Levs
j=k+1 ln

p
j+ 1

2
p

j− 1
2

∇ (Tv)j

−−→
Px3 = −Rd

∑Levs
j=k+1 ln

p
j+ 1

2
p

j− 1
2

(�	��(.), �	�
(.) )

−−→
Px4 = −Rdαk∇ (Tv)k = −Rdαk (�	��(I), �	�
(I) )

���
����
−−→
Px5

−−→
Px5 = −Rd (Tv)k ∇αk

��4 
��
 �7� ?,�,�%@ -

∇αk = ∇
(

1 − p
k− 1

2
Δpk

ln
(

p
k+ 1

2
p

k− 1
2

))
= − p

k− 1
2

Δpk

{
∇ ln

(
p

k+ 1
2

p
k− 1

2

)}
−ln

(
p

k+ 1
2

p
k− 1

2

){
∇p

k− 1
2

Δpk

}

$
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 �7� ?,�,�&@ ������	�

∇ ln
(

p
k+ 1

2
p

k− 1
2

)
=

∇p
k+ 1

2
p

k+ 1
2

− ∇p
k− 1

2
p

k− 1
2

=
(

B
k+ 1

2
p

k+ 1
2

− B
k− 1

2
p

k− 1
2

)
ps∇ ln ps

����-

∇p
k− 1

2
Δpk

=
B

k− 1
2

Δpk
∇ps − pk− 1

2

∇Δpk

(Δpk)2

=
B

k− 1
2

Δpk
∇ps−

p
k− 1

2
(Δpk)2

[(
Bk+ 1

2
− Bk− 1

2

)
∇ps

]
=
(

B
k− 1

2
Δpk

− p
k− 1

2
(Δpk)2

ΔBk

)
ps∇ ln ps

	���

∇αk = − p
k− 1

2
Δpk

(
B

k+ 1
2

p
k+ 1

2

− B
k− 1

2
p

k− 1
2

)
ps∇ ln ps−ln

(
p

k+ 1
2

p
k− 1

2

)(
B

k− 1
2

Δpk
− p

k− 1
2

(Δpk)2
ΔBk

)
ps∇ ln ps

∇αk = − 1
Δpk

{
p

k− 1
2

p
k+ 1

2

Bk+ 1
2
− Bk− 1

2
+ ln

(
p

k+ 1
2

p
k− 1

2

)(
Bk− 1

2
− p

k− 1
2

Δpk
ΔBk

)}
ps∇ ln ps

��	

��
�(I) = − 1
Δpk

{
p

k− 1
2

p
k+ 1

2

Bk+ 1
2
− Bk− 1

2
+ ln

(
p

k+ 1
2

p
k− 1

2

)(
Bk− 1

2
− p

k− 1
2

Δpk
ΔBk

)}
�� ����

	���-

∇αk = ��
�(I) ps∇ ln ps

��� <����+-

−−→
Px5 = −Rd (Tv)k ∇αk = −Rd (Tv)k ��
�(I) ps∇ ln ps

E



−−→
Px5 = −Rd (Tv)k ��
�(I) ps (���9�#, ����FB ) �� ����

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩


�� ��������	� ��!
� Ak+ 1
2

= 0

��
�(I) = − 1
Δpk

{
B

k− 1
2

ps

B
k+ 1

2
ps

Bk+ 1
2
− Bk− 1

2
+ ln

(
B

k+ 1
2

ps

B
k− 1

2
ps

)(
Bk− 1

2
− ΔBkB

k− 1
2

ps

ΔBkps

)}
ps∇ ln ps

��
�(I) = 0
−−→
Px5 = 0 ?���
�� 
�� ���� ������	���@

 !" ��� �����#� $������� ����	�
�

����I� 	�� �������� 
��
�4��I" 	�� ���
��� �������� ��7����� �� �5��������


�� dps

dt ,
(
not ∂ps

∂t

)
�

�� �	��	 4�	� 	�� ���	����	+ �7��	���-

∂

∂t

∂p

∂η
+ ∇3 · ∂p

∂η

−→
V 3 = 0 �5���� ��� ��!���� ?,���,@

d
dt

∂p

∂η
= −∂p

∂η

(
D +

∂η̇

∂η

)
, D = ∇ · −→v H ?,����@

��4 �5�����
d
dt

∂p

∂η
����! p = A (η) + B (η) ps ?,���(@

?B� ���������" 4� ����� ���	���� 4�	� ∂p
∂η @

d
dt

∂p

∂η
=

∂

∂t

∂

∂η
(A + Bps) +

−→
V · ∇ ∂

∂η
(A + Bps) + η̇

∂

∂η

∂p

∂η
?,���%@

D



=
∂B

∂η

∂ps

∂t
+
−→
V · ∇∂B

∂η
ps + η̇

∂

∂η

∂p

∂η
?,����@

=
∂B

∂η

(
∂ps

∂t
+
−→
V · ∇ps + η̇

∂ps

∂η

)
+ η̇

∂

∂η

∂p

∂η
?,���&@

d
dt

∂p

∂η
=

∂B

∂η

dps

dt
+ η̇

∂

∂η

∂p

∂η
?,���$@

2��
 �7�� ?,����@ ��� ?,���$@"

�7��	� 	�� 	4� �5��������� 
��
d
dt

∂p

∂η
?,���E@

∂B

∂η

dps

dt
+ η̇

∂

∂η

∂p

∂η
= −∂p

∂η

(
D +

∂η̇

∂η

)
?,���D@

∂B

∂η

dps

dt
+

∂p

∂η
D +

∂

∂η

(
η̇
∂p

∂η

)
= 0 ?,���,�@

G��	���� ������	�=�	��� +�����-

ΔBk
d ps

d t
+ ΔpkDk +

(
η̇

∂p

∂η

)
k+ 1

2

−
(

η̇
∂p

∂η

)
k− 1

2

= 0 ?,���,,@

for k = 1, . . . , K , K = ��
1�� �
 ������.

 ����� 	��	

K∑
k=1

ΔBk = 1

������ �7� ?,���,,@ 1+ ps 	� !�	 d
d t ln ps

,�



ΔBk
d ln ps

d t
+

1
ps

[
ΔpkDk +

(
η̇

∂p

∂η

)
k+ 1

2

−
(

η̇
∂p

∂η

)
k− 1

2

]
= 0 ?,���,�@

0�� ��	���� �
 	�� <��� 
��
 �
 �7� ?,���,�@ 4��� 1� ��������� 4��� 	�� 	�
�
������	�=�	��� �� ������	���

 !% ��� �����
������# ����	�
�

��������	��� �
 ����!+ ��� �+����	�	�� �����	���� �
��+-

�Q = cp�T − α�p " α = 1
ρ = RdTv

p

B
 �Q = 0

cp
�T
�t = α�p

�t

�T
�t = α

cp

�p
�t = αω

cp
= RdTvω

cpp " α = RdTv

p

�� ���� ����

cp = Cpd + (Cpv − Cpd) q = Cpd

[
1 +

(
Cpv

Cpd
− 1

)
q
]

��� κ = Rd

Cpd
� �� 
�+ 	��� 4��	�-

�T

�t
=

RdTvω

Cpd

[
1 +

(
Cpv

Cpd
− 1

)
q
]
p

=
κTvω

(1 + (δ − 1) q) p
?,�(�,@

,,



4���� δ = Cpv

Cpd
= 1846

1004.6 = 1.837

δ − 1 = 0.8375

2�� Tv �� ���	��+ �����1��- ��	 ε = Rv

Rd
− 1 = 0.6077

Tv = (1 + εq)T " �Tv

�t = (1 + εq) �T
�t + εT �q

�t

�Tv

�t = (1 + εq) κTvω
(1+(δ−1)q)p + εT �q

�t

0�� 	���
��+��
�� �7��	��� ��� 	����
��� 1� 4��		�� ��-

�Tv

�t
=

κTvω

p

(1 + εq)
(1 + (δ − 1) q)

+ εT
�q

�t
?,�(��@

⇑ ⇑
�������	�� �� �+��
��� �������	�� �� ��+����

0�� :������	���; 	��
 1+εq
1+(δ−1)q = 1+0.6077q

1+0.8375q


�� ���!� q = 50
1000

1+εq
1+(δ−1)q = 0.99

,�



0�� ����!+ ���������� 	��
�

��	 Cq = 1+εq
1+(δ−1)q " 	�� ��#�2 ����!+ ����� 	��


? �	����" �	 ��" D� �7� ����@ ��-

(
κTvω

p
1+εq

1+(δ−1)q

)
k

= κ (Tv)k
1+εqk

1+(δ−1)qk

〈

− 1
Δpk

{
ln
(

p
k+ 1

2
p

k− 1
2

)∑k−1
j=1 [DjΔpj + ps (�vj · ∇ ln ps)ΔBj ]

+ αk [DkΔpk + ps (�vk · ∇ ln ps)ΔBk]
}

+ ps

Δpk

[
ΔBk + Ck

Δpk
ln
(

p
k+ 1

2
p

k− 1
2

)]
(�vk · ∇ ln ps)

〉

4����

Ck = Ak+ 1
2
Bk− 1

2
− Ak− 1

2
Bk+ 1

2

�� ��4 ��<�� �����1��� 
�� �����! ��������-

4��I�k = κ(Tv)k

Δpk
· 1+εqk

1+(δ−1)qk

4��I1k = ln
(

p
k+ 1

2
p

k− 1
2

)∑k−1
j=1 [DjΔpj + ps (�vj · ∇ ln ps) ΔBj ]

+ αk [DkΔpk + ps (�vk · ∇ ln ps)ΔBk]

4��I�k = ps

[
ΔBk + Ck

Δpk
ln
(

p
k+ 1

2
p

k− 1
2

)]
�vk · ∇ ln ps

��	��! 	��	 1
Δpk

4�� �1���1�� �� 4��I�k 	�� ����1�	�� 
��
 �


�7� ?,�(��@ 1���
��-

(
dTv

dt

)
k

=
(

κTvω
p

1+εq
1+(δ−1)q

)
k

= 4��I�k (−4��I1k + 4��I�k)

,(
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0�� 
���	��� �����<� ��
���	+ �7��	��� ��-

d q

d t
= Sq ?,�%�,@

Sq �� 	�� ��
 �
 ������� ��� ���I��

 !' (��	�#�� (��
#�	� ����	�
�

ω �� ���!����� �� �� 	�� �������� 
��
��

ω = −
∫ η

0

∇ ·
(

vH
∂p

∂η

)
�η + �vH · ∇p ?,���,@

C+ ��<��	���- ω = �p
�t = ∂p

∂t + �vH · ∇p + η̇ ∂p
∂η

��1�	�	�	� ∂p
∂t �� 	�� ���	����	+ �7��	��� ?,���,@

∂
∂η

(
ω − �vH · ∇p − η̇ ∂p

∂η

)
+ ∇ · vH

∂p
∂η + ∂

∂η

(
η̇ ∂p

∂η

)
= 0

��	�!��	� � 	� η (ω − vH · ∇p) | η
0 +

∫ η

0
∇ · �vH

∂p
∂η�η = 0

�
 ωη=0 = 0 ��� (�vH · ∇p)η=0 = 0 �7� ?,���,@ 
����4��

,%
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0�� 
�
��	�
 �7��	��� ��� 1� 
�������	�� ��	� 	�� 
����4��! 
��
-

u+ = uA
t+Δt = Ũ − Δt

2
ULA

t+Δt ?,�&�,@

v+ = vA
t+Δt = Ṽ − Δt

2
V LA

t+Δt

4���� ����������	 :A; ����	�� ������� ����	" ��� ( )+ ����	�� ������ ��	
t + Δt �	 ������� ����	�

Here
−→
V L = (UL, V L) = ∇ (AT + RdTr ln pS)

�� 	�� ������ ���	 �
 	�� 
�
��	�
 �7��" 	� 1� 	���	�� �� � ��
�'�
�����	

������� A �� � 
�	��5" ��� Tr �� � ��
������ 	�
����	����

���� ��	

q = ln ps

0���" 	�I��! 	�� �����!���� �
 �7 ?,�&�,@ 4� ����-

D+ = X − β Δt

2
∇2

(
AT + + RdTrq

+
)

?,�&��@

4���� X = ∇ · (ũ, ṽ)

0�� ������������! ���	���	+ �7��	��� �� ��	�!��	�� �5�����	�+�
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0�� 	���
��+��
�� ��� ���
��� �������� �7��	���� ���-

T + = T A
t+Δt = Y − β Δt

2
τ DA

t+Δt ?,�&�(@

q+ = qA
t+Δt = Z − Δt S · DA

t+Δt ?,�&�%@

�7��	���� ?,�&��@" ?,�&�(@" ?,�&�%@ ��
����� � ������� �+�	�
 ��� ��� ������

�� ��� ����	��� ��
�����	��

B	 �� ��	�� 	��	 	�� ������� �+�	�
 �
 �����!���� 	���
��+��
�� ��� ���'

��� �������� �7��	���� ���	���� ������� ����	 �����1��� �	 t+Δt " ��� 	�� 	��
�
Ũ , Ṽ , Y and Z . 0���� ���	 	��
� ���	��� 	�� ��
 	�	�� �
 ��� 	�� ��7�����
�����	���� �� 	�
� ��� �� �����" ��
��+ �������	���� �
 �����	��� ����	�" ��	��'
����	��� �
 ���!�1����! ������ 	� 	�� �����	��� ����	�" �� 4��� ��" ��	�	��� �

	�� ������	+ ��
�����	� 	� ������	 
�� 	�� �������� ��������	� �+�	�
� G��4��
�� 	��� ��!�	" �	 1���
�� ����� 	��	 	�� ���	�� �
 !����	+ �
 	�� �
���
��	�	���
�
 	�� ��
�'9�!���!� 
�	��� �� �� 	�� �1��� ��	����� 2�� 	��� ������" � �������
�>��	 ��� 	� 1� 
��� �� ����� 	� ����	� � ���
�� ��� 
������ ����
��	�	���
4���� 4��� 1� ������	�� �� � ��1��7���	 �8�� ��	��

B� 	�� 
����4��!" ��� ���	��+ �����1���" �� 4��� �� X, Y, andZ" ��� 	�� ����	���
���8����	� �� 	�� ���������	� �5���������

��	 F+ = FA
t+Δt , b =

β Δt

2
, r = RdTr

4���� Tr �� � ��
������ 	�
����	��� ���1���	�� �� �� 	�� ��	����� ����
��'
	�	��� �
 	�� ��
�'9�!���!� �
���
��	�	����

0���-

D+ = X − b∇2
[
A
(
Y − b τ D+

)
+ r

(
Z − Δt S · D+

)]
4���� S =

1
2 pr

s

(Δpr
1 · · · Δpr

K)

,&



��!������!-

[
I + b∇2 (−bAτ − r Δt S)

]
D+ = X − b∇2 (AY + rZ)

�5�������! 	�� 9�������� �5�����	�+-

[
I +

n (n + 1)
a2

b (bAτ + r Δt S)
]

D+ = X +
n (n + 1)

a2
b (AY + rz) ?,�&��@

��	 �J
 = I +
n (n + 1)

a2

[(
βΔt

2

)2

Aτ +
(

βΔt

2

)2
Rd

P r
Tr · Δpr

]

�J
 = I +
n (n + 1)

a2

β2 (Δt)2

4

[
Aτ +

Rd

P r
Tr · Δpr

]

��� Tr · ΔP r �� 	�� 9�G� 5 9�G� 
�	��5-

Tr · ΔP r =

⎛
⎜⎝ T r

1
���

T r
Levs

⎞
⎟⎠

(Δpr
1 · · · Δpr

Levs)

�7��	��� ?,�&��@ ��� ��4 1� ������ 
�� D+ .

D+ = D−1
m

[
x +

n (n + 1)
a2

βΔt

2
(AY + RdTrZ)

]

2�����+ T + ��� q+ ��� ���� 1� �����	���

,$
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k k + 1
2 �I� 1I� �I� η ∂p

∂η

� 1
2 �I�?,@ 1I�?,@ �I�?,@

(
η ∂p

∂η

)
1
2

H��	?,@

, 1 1
2 �I�?�@ 1I�?�@ �I�?�@

(
η ∂p

∂η

)
1 1

2

H��	?�@

� 2 1
2 �I�?(@ 1I�?(@ �I�?(@

(
η ∂p

∂η

)
2 1

2

H��	?(@

( 3 1
2 �I�?%@ 1I�?%@ �I�?%@

(
η ∂p

∂η

)
3 1

2

H��	?%@

 !+ ,���-��� ��� �

$���

��������
−−→
Px2 -

−−→
Px2 (k) = −Rd

⎡
⎣ Levs∑

j=k+1

(Tv)j

(
Bj+ 1

2

pj+ 1
2

−
Bj− 1

2

pj− 1
2

)⎤⎦ ps (���9�#, ����FB ) = ( �52�, �52� )

����! 	�� ��	�	��� �� 0�1�� ,

��	 fj+ 1
2

=
Bj+ 1

2

pj+ 1
2

, �5(I) =
Levs∑

j=k+1

(Tv)j

(
fj+ 1

2
− fj− 1

2

)
k = 1, . . . , Levs

9�	 9���H% IH," �" (" % Px = �52 ������ , �� ����

−−→
Px2 = (�52�, �52� )

,E



IH9��� �5 (4) =
∑4

j=4+1 ≡ 0
%

IH9���', �5 (3) =
∑4

j=3+1 = (Tv)4
(
f4+ 1

2
− f4− 1

2

)
(

IH9���'� �5 (2) =
∑4

j=2+1 =
∑4

j=3 = (Tv)3
(
f3+ 1

2
− f3− 1

2

)
+ (Tv)4

(
f4+ 1

2
− f4− 1

2

)
�

= (Tv)3
(
f3+ 1

2
− f3− 1

2

)
+ �5 (3)

IH9���'( �5 (1) =
∑4

j=1+1 =
∑4

j=2 = (Tv)2
(
f2+ 1

2
− f2− 1

2

)
+ �5 (2)

,

I = 2

I = 3

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

�� I = 2, 4 − 1 ( I = 2, 3 )

�5 (2) = �5 (3) − Rd

(
�(4)
�(4) − �(3)

�(3)

)
0! (3)

�5 (1) = �5 (2) − Rd

(
�(3)
�(3) − �(2)

�(2)

)
0! (2)

ω (η) �� 	�� ��+�����

0�� ���	���� ������	+ ω �� �������	�� �� �� 	�� ����!+ ���������� 	��
 ��� ��
������ �� 	� 	�� ��+����� ����
�	���=�	��� ���	�����

B���5��! �� ����
�� 	�� 	� 1�		�
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9�G� H ��
1�� �
 
���� ��+���

pK+ 1
2

H �������� �	 ��	��
����

pk H �������� �� 
���� ��+���

p 1
2

= 0
−−−−−−− p1

p 3
2 −−−−−−− p2

p 5
2

���

−−−−−−− pLEV S−1

pLEV S− 1
2 −−−−−−− pLEV S

pLEV S+ 1
2

ak+ 1
2
, bk+ 1

2
��� ��<��� �	 ��	��
����

�,



 !/ 0
	�	�
�

λ ���!�	���

θ ��	�	���

η �+1��� ���	���� ��������	�

Ak Bk ����� ��������	 ����	��	� ��<���! η

t 	�
�

a ������ �
 	�� ���	�

f �������� ����
�	��

(u, v) ����=��	�� ������	+ ��
�����	�

p ��������

ps ���
��� ��������

pr ��
������ �������� ���� �� �������=�	��� 
�� ��
�'�
�����	
	�
� ��	�!��	���

ω = dp
dt

T 	�
����	���

Tr ��
������ 	�
����	���

Tv ���	��� 	�
����	���

φ !����	��	���

ρ �����	+

α = 1
ρ �����<� ����
�

q �����<� ��
���	+

Q ����!+ ��� ���	 
���

Rd ��+ ��� !�� ����	��	

cp ��+ ��� �����<� ���	 �	 ����	��	 ��������

cv ��+ ��� �����<� ���	 �	 ����	��	 ����
�

κ = Rd/cp

ε H Rv/Rd + 1

δ Cpv/Cpd
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t X �	 �����	��� ����	 �	 	�
� t
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t+Δt

2
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�
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F (ϕ, λ) =
J∑

l=−J

N(l)∑
n=|l|

F l
nY l

n ?��,�,@

4���� 	�� ��������� ���
����� Y l
n ��� !���� 1+

Y l
n (ϕ, λ) = pl

n (sin ϕ) eilλ ?��,��@

? pl
n ��
��	�� �� ��1���	��� �9��@
0�� ����� ��
�	 �
 	�� ������ ��
 �� ��
	 �� � !������ 
���	��� �
 l � 0��


���� ��� 1� ��	�!��	�� 4�	� ��+ ������	���" ��� 	�� �����<� ������	��� �� ��'
	��
���� 1+ � ���	��� ����+" ��	 �	 	�� 1�!�����! �
 	�� ��	�!��	����

0�� �5������� ���8����	� F l
n ��� 
���	���� �
 	�
� ��� ��!
� ��� 	�� pl

n ���
9�!����� ���+��
���� !���� 1+

pl
n (x) =

1
2nn!

[
(2n + 1) (n − l)

2 (n + l)!

] 1
2 (

1 − x2
) l

2
�l+n

(
1 − x2

)n

�xl+n
?��,�(@

4���� x = sin ϕ ��� 	�� ���
���=�	��� �
 	�� pl
n �� ���� 	��	∫ 1

−1

pl
npl

m�x = δmn ?��,�%@

0�� pl
n ��� 1� !�����	�� 
��
 	�� ��������� ����	���

εl
n+1p

l
n+1 (x) = xpl

n (x) − εl
npl

n−1 (x) ?��,��@

4����

εl
n =

(
n2 − l2

4n2 − 1

) 1
2

?��,�&@
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(
1 − x2

) �pl
n (x)
�x

= (n + 1) εl
npl

n−1 (x) − nεl
n+1p

l
n+1 (x) = cosϕ

�pl
n

�ϕ
?��,�$@

��



"!" ���� 	
 
$�#	��� ������
��

����
� 	��	 	�� !��� ������ �
 � !���� <��� ��� I��4�" ��� 	��	 4� ��7����
	�� <���3� �5������� ���8����	�� B� ����	���" 	�� <��� ����� ��������	 � ���	��+
�����1�� �� � 	������+�

9�	 	�� <��� 1� ��������	�� 1+ �7� ?��,�,@� #��	������	��� �
 	��� �7��	���
1+

(
Y l

n

)∗
��� � ���
��� ��	�!��	��� ���� 	�� ������ +�����-

F l
n =

1
2π

∫ 2π

0

∫ π
2

−π
2

F (ϕ, λ) pl
n (sin ϕ) e−ilλ cosϕ�ϕ�λ ?����,@

0�� ��
������ ������	��� �
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